
Math 111-6, Quiz #14,

Instruct ionr; :  Show al l
count ing  prob lems
than a  mi l l i< ln .

2 .  F ind  the  min i

N a m e

k. Answer each quest ion as completely as ible. Use exact values. For

4+r

I  spanning tree using Kruskal 's Algori thm for he graph below.

K€Y
may use scient i f ic notat ion (with three sign nt f igures) for any numbers larg;er

1,.  Use the graph low to  approx imate  the  min ima l  Hami l ton  c rcui t  for the graph below. Use the
Nea rest Algori thm and the Cheapest Link (Sorted Algori thm. Do they give ther
sarre result? hich is cheaper in this instance?
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